ol 4 R

N e e
A

-/

4
i
3F

HH

l
HH

él




1.

ROBNEZIREI,
()5—7—4 ZFELEZI,

PR R I

e e S

(4)(—2a)*X 3a BEELZI,
5)V/27 =3+ /3 —2 ZEHELZIW,
6)(2v/2 +/5)(2V2 —/5) ZFELEBI,
(1) (x—6)2 BFHEL I,

(8)6ax+9ay EREAEREL LI,

(9) 2% — 14x +49 ZFESREL 7RI,

(10) —XRAFE=R %x— 1= %;H_% BIEX X,

=—2x43
(A1) sz A | BRSO,
3x—2y=8

(12) = RA5TER 2202 —8x+3=0 XX\,



2.

ROFBNMNIBEZIRI N,

1) AL ANDTA NDEBRDOEEN6.7 5. B 6 ADTA PDBRDOEEMN 4.2 5. CH 5 ADT A bDOBEDE
M8 DL E, AEMNSCHETELE-E2ENEBRDIEEERDAI W,

Q2 HEEx 2 4EUTHBUEIL. DB a NS AFINTIFULAEEZFLY, HEE x 2RDIZ I,

(3)3EHET D 4 DO DY), BN 62 THD, TDADDEEETRTEXLXN,

(4) B (22 4+ 3):1 =(— x4+ 11):2122WVTC, 2 DfEERDL I,
6)/%?—ﬁﬁ%ﬁk@éiﬁ@%ﬁn@ﬁ%\%B&ﬁwﬁwéﬁwﬁéwo

6) ¥ A0 % 1 Eif-T 3 LLEDEAMH 2 HER % Rid7 X1,

(M My, 121, 131, T4 BEPNH—RDDH D, 71— e 2HBAT2HDEFEED L X, ZOBEFMN3D
EIC L DR ERD L,

@RXDHT AB=6. AD=4, BC=5Thdr%, DEDEIZRDRIV, /272U, BC & DEIIFTTH5,

A




3. 1767 FTCOBFEOENFREDHTI—RNTH, 175 7 FTOREDENEEEBDOH— RNTHRHY 7.,
ROFBNMNIBEZIRI N,
1) FRENSIKEIK &%, TFEEFI <HERERDLI,
Q) BENSINEIK X, EEEFI <HERERDL I,

@) HEMNS 1, FENS IKMGIK L E, 2REGEREZE] <HERERDBRIW,

@ RENS 1K, FENS 1KEI< L&, HABFOMIMEROMREZ KDL I,

4. g y=x% LER y=—x+62H A, BTRD->T\5, Bify=—2+6 & yEIEDREE C LT3,
ROFPNMIBEZILINN,
(1) R A. B DEERZEZRDIZI, Y4

(2) 855 OC DEX 2RI,

(3) A OAB DR % b7 X\

T X




O. ADPMDE>IZ, FEFK ABCD »Hb, ZDESFDHLRZ, A
APBCHWE=AFL 2L Phtd, mPLEA,
M P L DR2EhThRES, T AABP= ADCP
LRBILEFHALZEDTH S,
FERADZENE 2 3D TEEA 2 FERL LR 3V,

(FiEeA]
AABP £ ADCPIZH\\T,

fRELY. AR ABCDIE[ (7) | THahs,
AB: NG

RELY. APBCIE] (V) | Thaho.
Bp: e ®
LPBC=/PCB=[ (%) |

%7-. LABP=90°—/[ (%)
=90°—60°
=30° --®
£ DCP=90F°— /] (%)
=90°—60°
=30° @
®-@&Y LABP=/] (7) | +~®
0-@-0&Y[ () |»5. AABP=ADCP




1) 2)
(3) 4)
(5) (6)
(7) (8)
) (10)
(11) (12)
(1) (2)
(3) 4)
(5) (6)
(7) (8)
1) 2)
(3) 4)
(1)
2)
(3)
(7) (1)
() (T)
() (77)
(%) ()

()




1) | -6 @|-1
3 | ets @) | —244°
6) |443 —5 ) |3

(7) | x2—12x+36 @) [3a(2ax+3y)
©) |(x—77 10)|x=—
1) |x=2, y=—1 (12) 4igﬁ
1) |64 @ |x=—17
3) |14, 15, 16, 17 4) |x=1
6) [n=6 6|2

" |+ 8 |5
|7 2|3

8 | |2

(1) [A(=3,9). B(24)

@ (6

3 |15

(7)| EAF ()| DC
()| E=Aw (z)|cp

(1) 60° ()| PBC
(%)|PCB (7)|DCP
()| 28 DiB & Z DEDAMNZENTNFE LW

ZEES




